H|E

At2H(171/300~3509) 2,922 3,153 231 | -7.33%

B (17H/650~700g) 3,604 3,344 260 7.76%

2(170/1kg) 2,624 1,768 856 | 4843%

H 25 (1 7| /3kg) 6,465 3,958 2,507 | 63.34%
CHIt(1FS/1kg/QH7HA) 3,601 2,529 1,072 | 42.39%

20[(37H) 2,893 2,971 78 | -2.62%

AN E} K| 07| (= 4t/4E A/600g) 17,922 17,464 458 2.62%
(1622 St 7((10F2]/1kg) 8,474 8,253 221 2.68%
2| 2 7|(= /= HE| ¥ X| /1S 5/6009) 29,789 | 37,398 7,609 | -20.35%

27| (=4t/&4/6009) 69,822 | 59,080 | 10,742 | 18.18%

S ZF(1E/CH 2H/307H) 7,046 6,946 100 1.44%

Z7|(10t2] /= 4F/15cm) 1,573 1,789 216 | -12.09%

ZX|(10k2] /= 4F/80cm) 6,018 6,538 520 | -7.95%
nS0{(10r2|/=4t/30cm) 3,707 3,748 41 | -1.09%

HEH(10F2|/2{ A OFAt/40cm) 4,434 4,192 242 5.78%

LA 0{(10r2]/8H-5/30cm) 4,792 5,591 799 | -14.29%

4 (20kg) 57,230 | 55,988 1,242 2.22%

2l (=4t/1kg) 3,373 3,358 15 0.45%

L IH(1kg) 2,383 2,242 141 6.28%

7HObE (1kg) 9,686 9,621 65 0.68%

LILE(ZEHE/1kg) 2,103 2,112 9| -043%
F(12/300g/FLL/SEHE) 1,453 1,433 20 1.40%

MEE *'R%m BL/E7|E) 8,499 8,610 111 | -1.29%
= FIHE (1kg/=LH L 28,553 28,553 - 0.00%
D1| F3(1kg/= L 4h 9,857 9,857 - 0.00%

ZRH(1kg/=LH A 3,878 3,576 302 8.46%

2 Lr%m 2/5009) 2,450 2,298 153 6.64%

322 (1L) 1,698 1,590 109 6.83%

%4%(1 L) 1,518 1,400 118 8.46%

S 1,361 1,314 47 3.55%

== 2F(1'Y 360me/20f ) 1,488 1,499 11| -0.74%
(18 500me/A00H) 1,642 1,642 - 0.00%




